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2,500

(A) 0 (B) € 1 (D) 4 (E) nonexistent

If lim f(x) =L, where L is a real number, which of the following must be true?

X-a

(A) f'(a) exists.

(B) f(x) is continuous at x =a.
(C) [f(x) is defined at x=a.
D) fl@=L

(E) None of the above

lim (1+ 5¢* )% is

X—pac

(A) O (B) 1 (C) e (D) e (E) nonexistent

v

The figure above shows the graph of a function f with domain 0 <x < 4. 0 1 9 .'3 4
Which of the following statements are true? S
I. lim f(x) exists.

x—2

IL lim f(x) exists. Graph of f

x—2*

I11. hn21 Jf(x) exists.
(A) Ionly (B) II only (C)_Iand II only (D) I and III only (E) I, 11, and III
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If k is a positive integer, then lim — is
Xt ex

(A) 0 (B) 1 (C) e (D) k! (E) nonexistent

If lmg f(x)=7, which of the following must be true?
X-»

I. f iscontinuousat x=3.
II. f isdifferentiable at x=3.

.  f(3)=7
(A) None (B) IIonly (C) I only
(D) Iand III only (E) LII, and III

The graph of which of the following equations has y =1 as an asymptote?

X Xz

(A) y=Inx (B) y=sinx © y=—o D) y=— (E) y=¢€"
x+1 x-1

Let f be the function defined by the following.

sinx, x<0
xz 0=sx<l
2—-x 1€£x<2

x=3, x22
For what values of x is f NOT continuous?

(A) Oonly (B) lonly (C) 2only (D) Oand2only (E) 0,1,and2

. In’ =50 .
lunﬁm
ns g =20 +1

(A) -5 (B) -2 ©) 1 (D) 3 (E) nonexistent



1=cosB .

lim 5 — 18
00 2sin”“ 0
(A) 0 (B) % (C) 1 D) 1 (E) nonexistent
Which of the following functions are continuous at x=17

I. Inx

II. &'

ML In(e* 1)
(A) Tonly (B) Tonly (C) IandIlonly (D) IIand Il only (E) 1,1IL and III
If f(x)=2x%+1, then lim ﬂi)-%fi@ is

Xy X

(A) 0 (B) 1 ©) 2 (D) 4 (E) nonexistent

The graph of the function f is shown in the figure above. Which of the following statements about
f is true?

@A) Ihnfg =l fiY

(B) lim f(x)=2

X-oa

(©) lm f(x)=2

x-»b
(D) )lci_r:})f(x)=l

(E) lim f(x) does not exist.

X-»a
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lim— is

x—rl]_tlx
(A) 0 @) 1 € 1 (D) e (E) nonexistent
e
Inx for0<x<2 X X
Iff(x)_{x2mz frocped OO
(A) In2 (B) In8 (€) Inl6 (D) 4 (E) nonexistent

Iz—ﬂ'z
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If a#0, then lim

I=2dy =—a

is

1 1 1 .
(A) ) (B) 27 (C) — (D) 0 (E) nonexistent
_J2x+5—\/x+7 f 2

If fx)= =2 y TOFX#5, and if f is continuous at x=2, then k=
f(2)=k

1 1 7

A) 0 B) — C) - D) 1 E) -

(A) (B) z ©) 3 (D) (E) s

Let g be a continuous function on the closed interval [0,1]. Let g(0)=1 and g(1)=0. Which of
the following is NOT necessarily true?

(A) There exists a number 4 in [0,1] such that g(k)= g(x) for all x in [0,1].
(B) Forallaandbin [0,1],if a=b, then g(a)=g(b).

(C) There exists a number 4 in [0,1] such that g(h)=

o b0 | —

(D) There exists a number 4 in [0, l] such that g(h)= >
(E) For all 4 in the open interval (0,1), lin’ll g(x)=g(h).
X



